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% hw2_1 sol.m 20-sep-2011
% plane fit problem
B=[-1 -1 -1;-1 -1 -2;-1 -1 -3;-1 -2 -1,-1 -2 -2; del =
-1 -2 -3;-1 -3 -1;-1 -3 -2;-1 -3 -3]; 2.0289
1=02.80;3.18;3.02;3.34;3.53,;3.62;3.66;4.07;4.97] ; 0.5767
=-1; 0.1839
% Sig(l -> 6) = 0.1 ) vV =
% sig(7 -> 9) = 0.2 -0.0106
% sig_0_sqgr=(0.2)"2 -0.2067
0.1372
W=diag([4 4 4 4 4 4 1 1 1]); 0.0261
del=inv (B'*W*B) *B' x|*f 0.0200
v=f - Bdel 0.1135
lhat=1 + v 0.2828
’ 0.0567
-0.6594
lhat =
2.7894
2.9733
3.1572
3.3661
3.5500
3.7339
3.9428
4.1267
4.3106

.80
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.53
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% hw2 2 sol.m 20-sep-2011
% level net

1=(10.28;21.87;12.30;5.07;6.98;2.21;8.94] ;
sig 0_sqgr=(03)"2;

% sig(1-4) = 0.1

% sig(5-7) = 0.3

W=diag([9 9 9 9 1 1 1]);

disp('first solve by indirect observations');

B=[-1 0 0 0;
0 -10
1-10
10 -1
0 -11
0 -1

-1 0

I

7
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HRPROOOO

Hh O O
—..

del=inv(B'*WxB) *B!' *Wxf
v=f-B*del
lhat=1+v

disp('now solve by observations only!');

A=[1 -1 1 0000;00-11100;0000 -1-11];

£=-A*];

Q=1inv (W) ;

k=inv (A*Q*A' ) *f
V=Q*A'*k
lhat=1+v

%

first solve by indirect observations

del =
10.0475
22.1025
15.1301
13.0413
vV =
-0.2325
0.2325
-0.2451
0.0126

-0.0077 -

-0.1212
0.1212
lhat =
10.0475
22.1025
12.0549
5.0826
6.9723
2.0888
9.0612

now solve by observations only

k =
~-2.0922
0.1135
0.1212
vV =
-0.2325
0.2325
-0.2451
0.0126
-0.0077
-0.1212
0.1212
lhat =
10.0475
22.1025
12.0549
5.0826
6.9723
2.0888
9.0612
diary off
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